
      

  
         

                       
                     


                   

 𝐴 = 650(

)  𝑦 = 

2
(4)  𝐴 = 900(


)  𝑦 = 1.45

                    
                    

            



               

                    

   𝑎             

   𝑎             


 Your car dies and you decide that you will try to buy a new car. You can’t afford an expensive car and you look on 

                   
         

                        
                     
                   
                     
                     
                       
      

            

                   

                  


            

            

       

            


